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General Instructions :

(1)

- (iD)
(iii)
(iv)

This question paper contains three parts A, B and C.

Part A is compulsory for all candidates. ,

Candidates can attempt only one part of the remaining parts B and C.
All parts of the questzons should be attempted at one place.
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PART - A
(Accountlng for Partnership Firms and Companies)

megﬁ‘{%%mﬁﬁﬁm BFEMACTI R ?

- What is meant by ‘issue of debentures as a collateral security’ ?

67/2/2

‘e doft’ =1 o 91 @ 2
What is meant by ‘Reserve Capital’ ?

W%WWWW?QOOOO%WWW’%W%
fore s ity HiR ok s faada T 30,000 T T B ztsﬁﬁrraa
FI a1 IS A FISER B |

‘Give the journal entry to distribute ‘Workman Compensatlon Reserve’ of

T 90,000 at the time of retirement of Hetal when there is a claim of
¥ 30,000 against it. The firm has three partners Raghav Hetal and Anuj.

a&wﬁﬁaﬁmﬁm%qmaﬁ @ ‘oTed =i tﬂmﬁaa@
et form S whdl 2 2 |

At what rate can the company charge interest on ‘calls in arrears), if it
has not prepared its own Articles of Association ?

'W@%wmmﬁﬁ@waquaﬁﬁcﬂ@ﬁm wﬁq@ﬁﬁfﬁw

W%Wﬂ%maﬁdﬂeb‘ﬁﬁ{gmﬁdm T % foTT et ST | |

Name the account which is opened to credit the share of profit of the
deceased partner till the time of his death to his capital account.
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State the ratio in which the partners share the undistributed loss
‘appearing in the Balance Sheet, when there 1s a change in the profit
sharmg ratio amongst existing partners ? ~

7.  afc OISER 6 IS i Fﬁ@a&qu%ais{wmd@laﬂqﬁ»ﬁ? 1

If the partner’s capitals are ﬁxed where will you record the drawings
made by a partner 7

8. . ﬁl‘«r%ﬁ@ﬁ gt § wow % ol ?q ofrewds UsHmn giesal
(37) T 100 T % T 50,000, 8% FUITA P TEged W il feman
- o e 109 e WS R | |
(§) T 100 9% % T 60,000, S%Waﬁma’émﬁﬁ&mﬁmw
ST M 10% NfEs |1 R |

Pass necessary journal entries for the i issue of debentures in the follomng
”cases
(a) T 50,000, 8% debentures of ¥ 100 each were issued at par,
redeemable at 10% premium.

(b) T 60,000, 8% debentures of ¥ 100 each were issued at a discount of
5%, redeemable at a premium of 10%.

9. T, foow qur i W H W ¥ | AW el ¥ 3 2 90,000
ISl S | 3W U W, H9E hl @M w % Y wewad g3, ik
% a1 Ruw owEd 9 ﬁ-@ézﬁqasﬁmw:m T 60,000,

wﬁmqsm aﬁﬁwﬁ ?hm%w%aa‘rﬁsaamm?ﬁ
@ HT 2 @ 30 s @y T =lew | Ak HEHd TRl gIT 9o AR
ﬁm%mwﬁsmaﬁg.?i_a‘i:{am‘fﬁwwﬁwﬁﬁf%ﬁmm1 |
(1) wd & wE NEsEaE fr HTTH GUR FH & T T qud SRy
) wwaﬁwaﬁm:—ﬁw

2+1=3
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11,
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f e el Fandi A 14 % fAT TE I ATEER S | 3

3.9 They admit Rakhi as a partner with 1/4

Nanak, Rishabh and Mayank are partners in a firm. They contributed

T 90,000 each as capital three years ago. At that time Mayank agreéd to
ook after the business, as Nanak and Rishabh were busy. The profits for

the past three years were ¥ 60,000; X 1,00,000 and % 1,10,000
respectively. While going through the books of accounts Nanak noticed
that the profit had been distributed in 1 : 1 : 2 ratio. When he enquired
from Mayank about this, Mayank answered that since he looked after the
business he should get more profit. Nanak did not agree and it was
decided to distributed equally retrospectively for the last three years.

(a) You are required to make necessary corrections in the books of

accounts of the firm by passing an adjustment entry.

/ (b)‘ Identify the value which is not being practised by Mayank at the

time of division of profits.

. TN sheegena fafiee & < 100 TE% % T 19,00,000, 14% T 1 T

A9 o1, RFET MeA 10% SR o A1 o1 | FEd <l w6l % SR, ST |
¥ A A 50% RO H ARE g A T 10 T% % AW H 25%
it T Brif s R | oTen s fofie i gEasl RO
NIPERCAREIERIRCAIS IS j ; |

Adya Constructions Ltd. had an outstanding balance of ¥ 19,00,000, 14%

debentures of T 100 each, redeemable at a premium of 10%. According to
the terms of redemption, the company redeemed 50% of the above
debentures by converting them into shares of T 10 each at a premium of
25%. Record the entries for redemption of Debentures in the books of
Adya Constructions Ltd. ’ ‘

&1 5 % 9§ Tl T 8,00,000 ATE | 39 T BH HT wHE qE
< 16,00,000 T STET TSR 1 T 2,00,000 FHfF=r o ma |-
el % YT ¥ TN G % AW ohl HEwh UsHME
STt e fooft 1 o e |

Mamta and Seema are partners in a firm,

share in the profits of the
firm. Rakhi brings ¥ 8,00,000 as her share of capital. The value of the
total assets of the firm was 16,00,(500 and outside liabilities were
valued at ¥ 2,00,000 on that date. :

Give the necessary Journal entry to record goodwill at the time of Rakhi’s
admission. Also show your workings. ' :
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12. T fafiee i stftepa doht = 1,20,00,000 8, St T 10 W&% F T 12,00,000
St # e R | 3T @ R Y T 10 IS % 8,00,000 AT T 20%
Wwﬁmmlmuﬁmﬁmwﬁaﬁ
AEEATW T2
A W — T 6 (Siftem wfza)

T AN W — T 2

AT A W A TR

ST A 7,80,000 7SN % forq armaer fohn lW@Uﬁfmﬂﬁmﬁ@ﬂs‘l
ol SAfafem, 1956@W%Wvﬁv1m1%313w< YRR AT <hl
qaudngw%fﬁé‘s%f@ﬁ el 1 3L IR IR, ?f?ﬂmﬂ%%m

ECn]icy IeH > oft s=TsT | | 4

The authonsed capital of Sarang Ltd. is ¥ 1,20,00, 000 divided into
12,00,000 shares of T 10 each. Out of these company issued 8,00,000
shares of ¥ 10 each at a premium of 20% The amount per share was
payable as follows :

On Application — ¥ 2 -

On Allotment — ¥ 6 (including premium)
On First Call — T 2

On Final Call — Balance

Public applied for 7,80,000 shares. All the money was duly received.

Prepare an extract of Balance Sheet of Sarang Ltd. as per Revised
~Scnedue VI Part I of the Companies Act, 1956 disclosing the above
information. £lso prepare ‘notes to accounts’ for the same.

13. @, T 99 A0 R ¥ S a3 2 1%343%1&%541%3%{%

11 9099, 2012 ® FEY A B SEHW TR w0 F fw Ak fan |

uaﬁqammﬁﬁawﬁmﬁﬁz 3 UM H fowiforg e 1 Fvey

= YA 9o AT % s @ 39 %A,

% 64,000 T T 1,00,000 3 | 99 1 e T 1,23,000 HI TR FT TAH

ST A1 | 38 GHIRT 1 Tl 4T, o # TG TR A ST o0 Th ITehI ST
I T AT faHT ST ¥ 8 S |

ﬁﬁwﬁﬁm@ﬁ%mmmuﬁmﬁmlm
HRiER foouft =1 Toe w9 ¥ ewisT | g
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Sandeep, Praveen and Tara are partners sharing profits in the ratio of
3:2:1.0n1% April, 2012 Sandeep gave a notice to retire from the firm.
Praveen and Tara decided to share future profits, in the ratio of 2 : 3. The

capital accounts of Praveen and Tara after all adjustments showed a
~ balance of ¥ 64,000 and T 1,00,000 respectively. The total amount to be

- paid to Sandeep was ¥ 1,23,000. This amount was to be paid by Praveen
and Tafa in such a W'ay that their capitals become proportionate to their
new profit sharing ratio. | ,

Pass ne\'cess‘ar’yv Journal entries for the above transactions in the books of

the firm. Show your Workings clearly.

14, e fafis 3, 96 fafies 1 < 4,25,000 H TEgRmE! qe z 35,000 %
TIREEl W T 6,60,000 6 I eI W AN fohan | wien s 1 w9 g

1 TAHE T 200 T H 10% RO 1, 10% Siftem @ Feifta =t e |

I Tl o e effen fafites ft ol 8 o1ravgs Usam=n uffsar
HINTT | : 4
Leela Ltd. took over assets of T 4,25,000 and liabilities of T 35,000 from '
Veena Ltd. for the purchase consideration of ¥ 6,60,000. Leela Ltd. paid

the purchase consideration by issuing 10% debentures of T 200 each at

10% premium.
Pass necessary Journal entries in the books of Leela Litd. forcne ¢ ;}w'
transactmns

15.  3mn, e e Sera U wH H ameen | 13@8 2011@37@5@@@#
' sﬁﬂm T 8,00,000, T 6,00,000 99T T 4,00,000 F | AAM A 3:2:1F
g # i @ 9 | gl doig % yEuEl & AR TEER 65 W
6% Tt o <61 GUH A T ST T 4,000 ¥ HIE I 9 W T 6,000 I
[REIECENERERER D
e % &l w1 9w o W I o J’“;‘%?GOOOOSI%H&HF?HTF@H%!
W%%@aﬂm‘{&ﬁmmmw% SR S S BIgRt
T 50,000 Sfc ad sy g | .
T @l 4 i ot wH Fren g ol W sl | 31 A, 20123% guTH 7Y
T4 & foTT ®H 1 @19 T 3,00,000 91 |

31T, zo1zﬁm@ﬁa@aﬁmmaﬁﬁﬁéﬁmm FrERT 6
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Asha, Nisha and Jagat are partners in a firm. On 15 April, 2011 the
balance in their capital accounts stood at ¥ 8,00,000, T 6,00,000 and

3 4,00,000 respectively. They shared profits in the proportion of3:2: 1.

Partners aré entitled to interest on capital @ 6% per annum and salary to
Asha @ T 4,000 per month and a commission of ¥ 6,000 per quarter to

Jagat as per the provisions of the partnership deed. :

Asha’s share of profit excluding interest on capital 1s guaranteéd at
T 60,000 p.a. Jagat’s share of profit including interest on capital but

excludmg salary is guaranteed at T 50,000 p.a.

Any deﬁc1ency arising on that account shall be met by Nisha. The profit
of the firm for the year ended 315 March, 2012 amounted to ¥ 3,00,000.

Prepare ‘Profit and Loss Appropriation Account’ for the yeair ended
315" March, 2012. |

16, 31, 2012 % TR, T @ T 1 e R et o o e
| '4:3:1%3;3%13%%:@365{(%%: .
Bt R

| Sgang , | g Rl z
|TmR s 75,000 | UFS | 49,000
@fmm 35,000 | Tf 98,000
E | 39,000 | I foud 125 000
IRSiE | 82,000 |
TEd ~1,60,000 ,, ,
SHI 1,10,000 o) ’ 1,00,000
oA 85,000 | 3,855,000 ~ -
| | IHT T R0 50,000
5,04,000 ' - |5,04,000
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31 I, 2012@@@@3‘1@ | foreht TSR 6t geg & T TR
ERICRAEISISICIBCRIERE S

(1) w1 K wald w1 g fod 9 9wt & siwa w5 S T
T 88,000 ¥, A % SR fohan xru\*lll |

=) mﬁm%%wwqﬁw%%@ﬁmﬁaﬂ%aﬂmméﬁ
STt | 31°He, 2012 H TAT™ §C 99 i fosh 1 afd = 1,50,000 7o
1 30d ¥ 31 I, 2012 7 H T 90,000 off | 31 W, 2012
FHTH g I H AW T 50,000 o |

(@) TS0 W 7% i X @ s e S |

(3) 3w oEEE & FAIER, I T Bl 3T Svaes o 9 e
— SRl o MY w1 e L € S |

w%ﬁtmﬁé%%mm{sﬁ@m%waﬁmammﬁmﬁm‘
Wiﬂﬁqsmﬁﬂ?ﬁﬁ‘ll 6

The Balance Sheet of Rahat, Uma and Saral who were sharing profits in
the ratio of 4 : 3: 1 as on 315t March, 2012 was as follows :

‘ Liabﬂiﬁes ~ Am;unt Assets Am;unt
Ge}xeral Reserve 75,000 | Cash | 49,000
Bills Payable . 35,000 | Stock 98,000
Loan 39,000 | Bills Receivables 1,25,000
Copitals: Furhiture 82,000
Rahat 1,60,000

Uma 1,10,000 Machinery 1,00,000

Saral 85,000 3,565,000 4
‘ Uma’s loan 50,000
5,04,000 5,04,000

671212 8




Uma died on 315 July, 2012. The partnershlp deed provided for the
following on the death of a partner

(a) Goodwill of the firm was to be Valued at two years purchase of
average profits for the last three years which were ¥ 88,000.

() Uma’s share of profit till the date of her death was to be calculated
on the basis of sales. Sales for, the year ended
315t March, 2012 amounted to ¥ 1,50,000 and that from 15 April
to 315" July, 2012 to ¥ 90,000. The profit for the year ended
31°* March, 2012 was ¥ 50,000.

(c) Interest on\caprcal was to be provided @ 7% p.a.

| (d)  According to Uma’s will, the executor should donate her share to
‘Maitri Chaya — an orphanage for girls’.

Prepare Uma’s Capital Account to be rendered to her executor. Also
identify the value being highlighted in the question.

17.  wE aon o w wd H gr@en ¥ | Y Tl 3 2 F argua § feafw s
21 df 3 QA & ot wv @ wem 2, o il 3 U = ST
TAHT SR BT § | T A, S 37 A A B R, IR ORI W
ol R | ot 3= Murel el § 1/4 9 % fou AeER S | 9
T % o el e STk doft S Tehe TR R | MU % Yo % HHY

g aen TR o et foeo frefaRad o .
: R TI'E?T o {Tﬁ[ %
R pot=siiopil
: : , < ‘ T
ECE 56,000 | TS s 4 20,000
. | TSR 1,30,000 "
e e 4 . :
| L0y _fise @fga o1 10,000 | 1,20,000
f o | RE | 60,000
Bicc] 1,20,000 ‘ | -
e 80.000 | 2,00,000 | 7 1,00,000
Uehid ' 20,000
£ 3,20,000 | | 3,20,000
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1 3154, 2012®Tﬁcrrawuésrﬁmsﬁﬁm§3ﬂ
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G

(i)

‘(iV)

)

% <1 ST T g T 1,00,000 W EAT |
@ﬂ%ﬁa’awﬁvﬁﬁm?l,ooom?ﬂmﬁ@mml
T =Tl <1 SR 929 T 90,000 o1 |

Th e A, T8 T T 2,000 37 % aon Rl g =01 & &9 § syofifed
f?sbeu‘&ngemaﬂ 3 YTAH A T 1,600 FT YIAH foran |

TS BT G T 10,000 ¥ FH FIT |

e L TRen % Ul @ra aen gifea % w0 f{‘-\srﬁf oo R I
IR | 797 F wRe e T e ) TeEE FiR

L HYAT

arsfr, e e wred) TR ¥ W el W 3011 % sEwe § Rk
@ § | frmiEl w1 qRan S % STeS[E, 3Gl BIFhNEh HeR i
T 1 7R H e S T | 31 9, 2012 F) AwETeE Y 3 A wd
% T 1 e e | 3w fofy el B el e fremgem o

31 H, 2012 w1 feorfy feem

ECG 12,000 | kg | 6,400

Eay 3,000 | 2ER 48,400 |
ECik | _ smH AR R 2400 | 46,000
Ifie 55,000 e 15,600
forr 20,000 | et 2,000 |
Elctl 14,000 89,000 ¥ fafeer et 34,000
| ' 1,04,000 ~1,04,000
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AR T :

@ ‘Wmﬁwmaﬁ?1600133911?40000%%3@'&%?342001&
& form, Sl 1 T 12,000 B e oo WS gyrEm s a1

Gy  BRw Y mf wRR # T 14,000 § 7 T = fifag wwRel w
T 14,400 T (JEah™ I ¥ 10% %A W) o o |

(iii) a@ﬁaﬁ@m%ﬁamﬁﬁaﬁmwméml

(v) T = T 540 & | 99 3R T w0 I kdr{-lleﬁg{-dchlél
Ied % 50% W &= fon = | “

" FFﬁ?mij{ﬂCh I W % e ageh @, W@E@%I{uﬁ@rﬁﬁmmw
GRINCIIE

T § wEafya foru TTu o shi ggEE |l IR |

Neérav and Madhur are partners in a firm. They share profits in the
ratio of 3 : 2. Since both of them are specially abled, sometimes they find
it difficult to run the business on their own. Gopal, a common friend
decides to help them. Therefore, they admit him into partnership for 1/4th
share in profits. He brings his share of goodwill in cash and proportionate
capital. At the time of Gopal’s admission, the Balance Sheet of Neerav

and Madhur was as under :

Amount | Amount

Liabilities L = Assets 5
Creditors 56,000 | Cash at Bank 20,000
- | Debtors 1,30,000
General Reserve 64,000 Less Reserve v ;
| | | for doubtful debts _10,000 | 1,20,000 |
Capitals : | ‘ | Stock 60,000
Neerav 1,20,000 ' :
Madhur 80,000 | 2,00,000 | Investments | 1,00,000
" ' Patents 20,000
3,20,000 o ; 3,20,000

67/212 : 11 ; P.T.O.




On 15 April, 2012 Gopal was admitted on the following terms :

(i)  The Goodwill of the firm was to be valued at ¥ 1,00,000. ‘

(ii)  The unaccounted accrued income of ¥ 1,000 was to be provided foi'.
(11i)  The market value of Investments was ¥ 90 OOO

(iv) A debtor whose dues of T 2,000 were written off as s bad debts paid
T 1,600 in full settlement.

(v) . Patents were to be undervalued by T 10, OOO

Prepare Revaluation Account, Partners’ Capital Accounts and Balance
Sheet of the reconstltuted firm. Identify the value belng conveyed in the
questlon ;

OR

Ajit, Brijesh and Chandni are partners sharing profits in the ratio of
3:1:1.In spite of repeated reminders by the authorities, they kept

- dumping hazardous material into a nearby river. The court ordered for
the dissolution of their partnership firm on 315t March, 2012. The
financial position of the firm on that date was as follows :

~ Balance Sheet as on 315 March, 2012

e Amount | | A t
Liabilities o T Assets ; mogn
Creditors | 12,000|Cash | | 6,400

|Loan | 3,000 | Debtors 48,400
Canitals ' . Less Provision
pras: for doubtful debts 2,400 46,000
Ajit ' 55,000 Stock : 15,600
~ Brijesh 20,000 | Furniture ’ 2,000
Chandni 14,000 89,000 | Other Sundry Assets 34,000

1,04,000 | 1,04,000

67/2/2 12




Additional information :

(1) Ajit was to take over furniture at ¥ 1,600 and debtors amounting
to ¥ 40,000 at T 34,200; the Creditors of T 12 OOO were to be paid
by him at th1s figure.

(ii)  Brijesh was to take over all the stock at ¥ 14,000 and some of the
other Sundry Assets at ¥ 14,400 (being 10% less than book value).

(i1i)  Chandni took over remaining other Sundry Assets at book value.

(iv) The expenses of dissolution were ¥ 540. The remaining debtors
were sold to a debt collecting agency for 50% of book value.

Prepare Realisation Account, Partners’ Capital Accounts and Cash
Account to close the books of the firm.

Identify the value being conveyed in the questlon

18. H:rsﬁgm RAfiRS 3 T1%-31gH 37 T 10 TOF T % 2,25,000 3791 F 10%
g T i 3 steeA e leh\GﬁErf?f 3T HHTIER & 93

AP W — T 2
AW — T 3
AW — T 4

SHEHT 1 4,50,000 M o 3G ITH g | T FETER g3

(31) 45,000 M % AETH! B 15,000 31 =2 fHy MU |

(@) 2,10,000 7% F AEHT H 1,20,000 3% a2 Bpu Mg |

(@) I ATAEH! FH1 90,000 9 A fFy T | |
wifers fYt 1 e # ARG S % WG ofter o T | O siweT W
98 10,500 37 (9 ) = € Aragd o o1, ATe=e qofm Fra TR 1
WA i H Emed @ | Th 3 W, Tga |, 8 9,000 o stef=a
TohT 77T 91, ST o 1 AT T o1 ot P F G | Tga N U a &
qraf-od o |

S goaehl B SR ool % fow emawaes UemEn Hﬁ@m ?ﬁf\sm l
mmﬁwﬁﬁwmﬁmi 8

HYAr -
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ﬁwf%fﬁaavﬁ@ﬁﬁﬁﬁmﬁﬁwmﬁammgq ﬁv‘rqr{‘?ﬁﬁ'ﬁmm
srf%r@mﬁ%m '

() ww %ﬁ%@ﬁ%lom%6omﬁa‘ammﬁqm?7

mﬁwéawmwﬁﬁw@aa&wmm?5uﬁmaﬁa@
T fRm on 1S A 45 S A RW A T 8 aﬁm%wm
¥ 7 9fc 3791 yed w9 H g9 Fnffera o fomm w1

(@) o fafRs X T 10 7% F 300 39 H Fed F RN BE W = 8 70

T g Rmee Tt T 2 Wit o e W er W e o oo |
I W T 5%@@%@%%@%3%:4?@&%
T AT | $9H V210 3 w1 T 10@%@?%, T 8 I i
¥ o 1 g i o Ry e

(@) ¥ RS T 10 W% % 000 i 1 et A o R Bk

% 3 ufd o7 sfiftem W AR Y R e o | 3 aini w7 3 R s
I oM T A AT AR ST FE g8 | el e R gu ol W
T 3 9fd 375 1 @ gt yeu g Frifi s fomm | |

Sun Indla Ltd. issued for public subscription 2,25,000 shares of the value
of ¥ 10 each at a discount of 10% payable per share as follows :

T 2o0n apphcatlon T 3 on allotment and ¥ 4 on call

The company received applications, for 4,50,000 shares. The allotment
was done as under :

(a)  Applicants of 45,000 shares were allotted 15,000 shares.
(b) Applicants of 2,10,000 shares were allotted 1,20,000 shares.

() 'R‘emaining applicants were allotted 90,000 shares.

After adjusting excess money in allotment the money was returned.

~ Harish, a shareholder, who had applied for 10,500 shares (group b) failed

67/2/2

to pay allotment and call money. Rahul, another shareholder, who was
allotted 9,000 shares, paid the call money along with the allotment.
Rahul also belonged to group b.

Pass necessary Journal entries to record the above transactions in the
books of the company. Show your working notes clearly.

OR

14




Record the Journal entries for forfeiture and reissue in the following
cases : ' : ‘ ‘ '

(a) X Litd. forfelted 60 shares of T 10 each, T 7 called up, on which the
shareholder had paid application and allotment money of T 5 per .
share. Out of these, 45 shares were re-issued to Naresh as T 7 paid
up for T 8 per share. :

LS ;

(b) Y Ltd forfe1ted 300 shares of ¥ 10 each, ? 8 called up, issued at a
premium of ¥ 2 per share to R for non-payment of allotment
money of ¥ 5 per share 1nclud1ng premium. Out of these, 210
shares were re-issued to Sanjay as T 8 called up for ¥ 10 per share
fully pald up. ~

(c) 7 Litd. forfeited 900 shares of ¥ 10 each issued at a premium of ¥ 3
- per share to R for non-payment of first and final call money of ¥ 3
per share. All the forfeited shares were reissued at ¥ 3 per share

fully paid up.

U — &
(ferfrm feramoti <1 foreeiwor)

PART-B ~
_ (Financial Statements Analysis)

19. Ushs Yo foatur 99 Hd O7g TE @mfa 9 wE fRue s o fafmm s w0
T Tl g o R o fpw weR At wfafafy % ol wfiga w e 1
Under which type of activity will you classify ‘Rent received on property

held as investment’ while preparing Cash Flow Statement ?

20. ‘erd |cbu\%§4m|vl ww&vrmﬁaﬁwma’rg@m a%afg@mmﬁé
v ddlia Té’f alitl, onldYi ‘éﬁ%’ﬁ ERIE : 1
State with reason whether Payment of outstanding rent’ would result
into 1nﬂow outflow or no flow of cash. ' :

21. Toxfig foeon < oo ‘{@ TR qREdl Sl fohE TR STerReHT LT % ?
3g@ i | 1

State how does Financial Statements Analys1s 1gnore Pr1ce level
changes’.

67/2/2 - | 5. ~ PTO




22,

23,

wroft arfafem, 1956 <t aRenfg arof VI 9 1% srger ok R 3§
ﬁmﬁ%ﬁﬂé%avﬁé%ammm%mﬁ@ﬁéwﬁ
G I

(1) aT%’*T

(i)  TEdTferd ST

Under what heads and sub-heads Wﬂl the following items appear in the
Balance Sheet of a company as per Revised Schedule VI Part I of the
Companies Act, 1956 :

(1) Tax Reserve
(i)  Vehicles
(ii1) Proposed Dividend

xz@m%ﬁé’g% 31 9, 2011 990 2012@%@@%%{‘1%1@3
ATH 9T BT et & geFTIech - g1 feeto dur Rl

S | =hz | 2011-12 | 201011
e F T
EEINERe o) 60,00,000 | 36,00,000
3 I | 36,00,000 | 27,00,000
=7 e 29,00,000 | 26,00,000

| From the follovvm% Statement of Profit and Loss of Startrack Ltd., for the

- Statement of Profit and Loss :

24.

67/2/2

)

years ended 31°° March, 2011 and 2012, prepare a Comparatlve

L Note | 2011 -12 | 2010 -—11
Particulars ,

, / No. T <
Revenue from operations | 60,00,000 | 36,00,000
Other{ Income N 36,00,000 | 27,00,000
Expenses ’ | 29,00,000 | 26,00,000

(a1) Tr=fciRea g=1 @ ‘Fa H#ﬁ% ZRUT UTA <h! TTUHT HIT
 simard i T 1,60,000, F O T 3,60,000, =T AR T 40,000 |
(¥) =g @Rl (3 6,00,000) W] FREE] (X 4,00,000) R ST
1:5:17% | 39 %H &I TETHR $S 3N 7o qIcal 1 YTAH HTeh 39
HTe] I 1 2 : 1% UG H ST T H1 3=5% ¢ | 39 T A
{%%@@Wrﬁaﬁmmmwmmﬁ?w
i |
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(a) From the follomng mformatlon compute ‘“Total Assets to Debt
Ratio’ :

Shareholders funds ? 1,60,000, Total Debt ¥ 3,’60,000,‘ Current
Liabilities ¥ 40,000. '

(b) The ratio of Current Assets (3 6,00,000) to Current Liabilities
(¥ 4,00,000)is 1 :5 : 1. The accountant of this firm is interested in
maintaining a current ratio of 2 : 1 by paying some part of Current
Liabilities. Suggest the amount of Current Liabilities which he

~ must pay for this purpose.

2. d-tll@"d(’i RIS w1 31 uTel, 2011 a0 2012 H TAW B 99 % oT
 foufq foaw fefafaa 80 |

S ‘-ﬁz . 2011-12 | 2010 — 11
; qen T T
1 - 9T v Sl
1. | etwramd At |
| (=) g 5,00,000 . 4,00,000
(&) H=F & it |
(e A - 1 1,80,000 - 1,50,000
o | 3T STfired ' | |
(1) <refepref w7 . 4.00.000 3.00.000
| (31) ImTies egaTd 2 ~1,40,000 1,20,000
Edyl | 12,20,000 9,70,000
11 - sr et | |
1. | 3rarer wrafEt
(37) wurht wrutEt . o |
(i) 7qd @kt 3. 9,00,000 8,00,000
2. | ey wra i | . | '
(31) when | 90,000 1,00,000
() <ATTEs gTfeE 1,70,000 - 60,000
(|) ks aM Gehs qcd | | 60,000 10,000
FA ‘ 12,20,000 9,70,000
ﬁmﬁ%ﬁmﬁﬁ &I § TEd g Johs TaTE feretor Sam hifv
a9 % SR T TRl wrafmEl W T 3,00,000 TERET AT TR | 6

671212 a7 | | P.TO.




Following are the Balance Sheets of Oriental Ltd for the year ended
31% March, 2011 and 2012 :

Particulars Note | 2011 -12 . 2010-11
No. F , F

I - Equity and Liabilities :
1. | Shareholder’s Funds | ;
(a) Share capital ' 5,00,000 4,00,000

(b) Reserves and Surplus b
(Profit & Loss Balance) i 1 1,80,000 | 1,50,000

2. Non current Llablhtles
(a) Long Term Borrowings : 4,00,000 ~ 3,00,000

3. | Current Liabilities

(a) Trade Payables ]9 ~1,40,000 1,20,000

Total 12,20,000 © 9,70,000

5

II - Assets :
1. | Non-current Assets
(a) Fixed Assets
(i) Tangible Assets 5 9,00,000 | 8,00,000
2. | Current Askset:si' .

(2) Inventories | 90,000  1,00,000

(b) Trade Receivables , 1,70,000 60,000
(¢c) Cash and Cash Equivalents 60,000 10,000
Total 12,20,000|  9,70,000

Prepare a Cash Flow Statement after ‘taking into account the following
adjustments :

Deprec1at10n charged on tangible fixed assets during the year
amounted to T 3,00,000.
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- PART -C
(Computerized Accounting)

19. Tewasi mieRnarEt? . | 1
What is meant by ‘attributes’ ? :

20, g o R A R A TR B .

List any two sub-systems of Accounting Information System (AIS). :

21, 39 UfchAT 1 T TATST S TSI o BT ! 2@l 7 | | 1

Name the process which removes data redundancy.
22. ol fF smurdl w fafire qen 2o Tired doo # eraie Aifvte | .3

Dlstmgulsh between: Spec:1ﬁc and Tailored Software Packages on any
three bases.

23, il AETeRT YUl o TATYE % HHedl Sl Sedd shIvT | 4
State the steps in the 1nstallat10n of Computerized Accounting System
(CAS).
24, U ICTEW01 <hl BT © Tl SREEY H THART | 4

Explain Server Database with thé help of an example.

25, Frefiled g & e aRet B e S fu e g B SR 6

(1) "ETE YW &+ fom, q\aéraq€35oooa$15%a%a@amw€raﬁw
W20%H T |

() ¥ 3 % e, et A § W e e |

(@) W F T EmAE 200 BRI
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Calculate the formulae from the following information on Excei for
computing the amounts for :

(a) Dearness AJIOWance, Basic Salary upto T 35,000 at 15% and above :
: it at 20%. -

(b)  Net Salary, adding Dearness Allowance to Basic Pay.

- ()  Tax payable at a uniform rate of 20%.
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